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This interaction does not happen, however, because the neutron is 
heavier than the proton.   The proton has been measured to be stable.
For the proton to decay, a new force would be necessary.   







































































The US National Ignition Facility, which uses laser-driven inertial 
confinement fusion, was designed with a goal of break-even 
fusion; the first large-scale laser target experiments were 
performed in June 2009 and ignition experiments began in early 
2011.[7][8] On 13 December 2022, the United States 
Department of Energy announced that on 5 December 2022, 
they had successfully accomplished break-even fusion, 
"delivering 2.05 megajoules (MJ) of energy to the target, 
resulting in 3.15 MJ of fusion energy output."[9]
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